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> summary(d)

dbobdxUdbOyoobboobbooboooboobbooboooboobbooboo

1.1.2 0000

> plot(miki ~ omosa, xlim=c(0, 7), ylim=c(0, 2),
+ pch=as.numeric(d$syori),

+ col=as.numeric(d$syori), d)

pch 000000000000 OODOODOODODOOODOODOOOOODOOOOOODOOOO
as.numeric() 00000000000 DODOOOOODOOOOOOO0OOODODDOODOOOOO
oooooboooobooon
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000000000000 futsuu 00 Oijime 00 Ozeitaku 000000000

> iro <- c("black", "red", "blue") #I OO DO OOOOOOOODOOOOOOOO
> plot(miki ~ omosa, xlim=c(0, 7), ylim=c(0, 2),
+ pch=as.numeric(d$syori)-1,

+ col=iro[as.numeric(d$syori)], d)

iro* 0000D0iro0*00DO0OD0D00O0O0O0D0O0OOasnumeric() 0000000000000
gbobogboooboo

1.1.3 0000
gobooobogbbooboooboooboobboobooobooboboooboon

test <- split(d, d$syori)

1ml <- Im(miki ~ omosa, test[[1]])

co <- 1lml$coefficients

curve(co[1] + co[2] * x, add=TRUE, from = min(test[[1]]$omosa),
to = max(test[[1]]$omosa))

1m2 <- 1m(miki ~ omosa, test[[2]])

co <- 1m2$coefficients

curve(co[1] + co[2] * x, lty=2, col="red", add=TRUE,

vV VvV vV 4+ V V VvV V

from = min(test[[2]]$omosa), to = max(test[[2]]$omosa))
1m3 <- Im(miki ~ omosa, test[[3]])
co <- 1m3$coefficients

curve(co[1] + co[2] * x, lty=3, col="blue", add=TRUE,

+ VvV Vv Vv +

from = min(test[[3]]$omosa), to = max(test[[3]]$omosa))

12 000O0O0Ofor0000ODOOOO

000000000000 forO0DODOOCODOOOOO0OODODODOOODOOOOO

> d <- read.csv("data.csv")

> test <- split(d, d$syori)

> iro <- c("black", "red", "blue")

> plot(miki ~ omosa, xlim=c(0, 8), ylim=c(0, 2),

+ xlab="Total mass (g)", ylab="Stem mass (g)",

+

pch=as.numeric(d$syori), col=irol[as.numeric(d$syori)], d)



> for (i in 1:3) {

+ reg <- lm(miki ~ omosa, test[[i]])
+ co <- reg$coefficients
+ curve(co[1] + co[2] * x, 1lty=i, col=iro[i], lwd=2, add=TRUE,
+ from = min(test[[i]]$omosa), to = max(test[[i]]$omosa))
+ }
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> par(nfrow=c(000000OCO, OOOOODOOO))
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2. x00yOoooooboboooobooobooDoobUoo0Ub —DbOObOODOO
gboobooboobooboobooboboboO

0000000000000 Opar(mar=c( , , , ) O00000Omar() 0000000000
oo0obo0oboooboobobooobooboooboo
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enar(): 0000000000 OOOOOOOO
eoma(): 00O O0O0ODOOOOOODBOOODOOOOOO
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> mtext (1, line=4, outer=T, text="xOOOOO")
> mtext (2, line=4, outer=T, text="yOQOQOQOO")

mtext() OO0O00O00 100000x00200000y000000000000O00O01LineO

UoooboonobodbbooobuobbUlouwter00bogonoooboooboonO

OTO TRUEDOOOOODOO

24 00O
gobgobboobbdxtdbyboobooobooobooobooobooooboon

O0000O0xlim=c( , ) O ylim=c( , ) O00O000O00O0O0O0O0OCOO

25 yoouoooooooboooobooo

gbobooobogboboobboobooboboobbooboooboobbooboo

> d <- read.csv("data.csv")

> par(mfrow=c(1, 3))

> par(mar=c(0, 5, 0, 0), oma=c(5, 0, 1, 1), ps=20)

> summary(d) #0 000000000

> plot(ha ~ omosa, xlim=c(0, 8), xlab="", ylab="Needle mass (g)", d)
> plot(miki ~ omosa, xlim=c(0, 8), xlab="", ylab="Stem mass (g)", d)
> plot(ne ~ omosa, x1im=c(0, 8), xlab="", ylab="Root mass (g)", d)

> mtext(l, line=3, outer=T, text="Total mass (g)", cex=0.6)

U00D00Omtext 000000000 DOO0O0O0O0O00O0O0O0O0O0O0O0O0O0ODODOOcex=0.6000
gbobooboooboobboobobg
26 xUOyOOooooboooood

syoriJ 00 0O00-00000O0CO0O0OO

> d <- read.csv("data.csv")
> test <- split(d, d$syori)
> par(mfrow=c(1, 3), mar=c(0, 0, 0, 0), oma=c(6, 6, 1, 1), ps=20)



summary(d) #0 000000000

>
> for (i in 1:3) {
+

plot(ne ~ omosa, x1lim=c(0, 8), ylim=c(0, 3),
+ xlab="", ylab="", yaxt="n", test[[i]])
+ if (i == 1) { axis(2, at=0:3) }
+ else { axis(2, at=0:3, label=FALSE) }
+ }

A\

mtext(l, line=3, outer=T, text="Total mass (g)", cex=0.6)

\4

mtext (2, line=4, outer=T, text="Root mass (g)", cex=0.6)
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> Height <- c(0, 0.3:12.3)
> Age <- c(0, 11.8, 26.6, 32, 35.2, 37.6, 40.2, 43, 46, 49.4, 53.4, 59.2, 71.4, 91)
> d <- data.frame(Height, Age)



> plot(Height ~ Age, d)

goboboooooboboooobbbooooboboobooooooobboooobbooooo
gbbooboooboobboobboobbooboooboao

> result <- nls(Height ~ a/(1+b*exp(-c*Age)), start=c(a=10, b=100, c=0.5), d)
#0000 00000000000 000M 000000000 ooooObOoOoOoOoO0o0on

> x <= 0:91

> lines(x, 11.9/(1+186.4*exp(-0.12%x)))

curve() 000000000 O0000O00O 1lines() 000O000O00xO0O0 xO00000000OO
0000000000000 000000000D0000O0Opredict() 0000OOOO

> y <- predict(result, list(Age=x))

> lines(x, y)

4 000

gooboobooobooboboobboobbooobuoooboobboobboooboon
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O00000000oooGPSO0ODDOOOOO2000000000000000R0

ID <- rep(c("A1", "A2", "B1", "B2", "C1"), 20)

Age <- rep(c("Adult", "Child", "Adult", "Child", "Adult"), 20)
X <- rnorm(100, 50, 20)

Y <- rnorm(100, 50, 20)

Mass <- rep(c(200, 70, 150, 50, 170), 20)

d <- data.frame(ID, Age, X, Y, Mass)

41 OOOOOODOO
plotO O box(O OOOOODO
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o5 000

F) #x0y 000

F, axes

> plot(l, xlim=c(0, 100), ylim=c(0, 100), type="n", ann

gobogoo

> box() #0 0000

Ooo0o0o0oOxbODOyOOoooOoOobD 1o00O0DOODOOOOOOD

42 0000

points() 00 O0OD0ODOOOOOOO00OOODODOODOOOOO

s ubluen)

pink"
log(d$Mass) -3,

red",

> iro <- c("black", "gray", "

> points(d$X, d$Y, col

rep(c(1,16,1,16,1), 20))

pch=

cex=

=iro,

gbbooodbogbbuoobibd cexbbOoobboooboobbooobboobbobb
doobooboooboobboobbo0obooobuoooboobbopechoDboooO



43 0000
linesO OO0O0000DODOOOOOOOOOOODOOOOOOOOO

> d2 <- split(d, d$ID)
> for (i in 1:5) {

+ lines(d2[[111$X, d2[[i1]1$Y, col=iro[i])
+ }
44 00000
rect(OO000O0O0OOrect( , , , )OO0OOODOOOOOO xOO,yO0O,000 x00,y

gbooboooboobboobboobooboboobbooboooboobbooboo

> rect(50, 30, 55, 35, 1lwd=3)
> rect (20, 80, 25, 85, 1lwd=3)

gboogoobogoo

45 0O0OOOOOO

gobbooooobbiodD abline00000000abline 000000000 OOO0OO
OO0 hOvODOOOOOOOODDOOODODDOOOODOODOOOODOOO

> abline(h=0:10%10, v=0:10%10, 1lty=2) #10000000000000O

h O horizontald v O vertical O O O

10
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